A #l

w18

E}%

=

HEARER (—AREE S R Rk AR SR SL) BEA

A KL H B | A4S ALTTH (K

FRT1T OKF1 043

KU 5 P | 05 - 0 BB A TEBAAEE 3 AR
a4 (M) TEAMRE (F) FAKHIBRAmAS  (F) ALEE (1)
P A A 11,477, 537 11,477,537 | D 10, 536, 020
i 7.3 B 10, 434, 125 10, 434, 125 | E 9, 578, 200
e R 100% |E 91. 8%
B o4 EOF 551 [A] %5 2 [A] B
FEPHFEE P sE 6 5 4 0 0
H ATEBG Y — B A 2 3.4 0 0
B EIHPOBEARIEN 50 E 2ERT 7 8 2 0 0 % AL
A 2 FH P 5 1 8 0 0
L YOF B3 SN 6 6 0 0 0
R 7Sl i 8 1.7 0 0
b RER IS 3 2/5 0 0
# F7 71 VB RS 9 0 0 0 0

AR b E AT

TRIR TR STz RO 26T




